| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

1%} F (%] F [%]
x L . x o B4
g L g g
S0t SIO'E" s
F = S p £
F oo = 810
r r =
10°F 10°F 3
10°F 10°F
10f 10§
=
2o -
& L A
Eocr EHELLE
e RS LR R L A 1 N
16 18 20 0 2 4 6 8 10 12 14 16 18 20 - 6 18 2 % 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
T Bt TE—FForrgiTat
| N of reco track vs,sl —— Bé —mEEIE‘**‘ﬂaHHng{S:R?JEFFlH Jyerset
2 F 2 E 2 E 2
8 8 g 8
S10* ik g,lo“ : E,IO". ;
; El: R 810
i o4 W Q.
10° Bk 10° - 10°Eg 3
T e
10° 10? 10°

Ratio

Ratio




	Contents
	Page 1


